#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{

fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user,

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower /
#include <string.h> // strcmp :
#include <stdio.h> // fgets, fputs main() ¢ -

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name) sfp =

{ saved
char user[256]; frame
int i; pointer _
for (i = 0; namel[i] != "\0'; ++i) %elp

user[i] = tolower(nameli]);

user[i] ="\0'; ofp =
return strcmp(user, ) ==0; old

} frame
pointer

e |%esp

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;




#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()

login
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()
{
char login[512];
fgets(  login, 512, stdin );
if (! verify(login))
return 1,
reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

fouts("SUPER SECRET = 42\n", stdout);
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower

#include <string.h> // strcmp

#include <stdio.h> // fgets, fputs main()
void reveal_secret() —
{ login |
fputs("SUPER SECRET = 42\n", stdout);
}
| | stdin
|{nt verify(const char* name) 512
char user[256]; login
inti; :
for (i = 0; name[i] '="0'"; ++i) p
user[i] = tolower(nameli]); fgets() sfp
user[i] ="\0';
return strcmp(user, ) ==0;
}
int main()
{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))
Aeturn 1; e
“ reveal_secret();
return O;
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()
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char login[512];
fgets(login, 512, stdin);
if (! verify( login 1))
return 1,
reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()
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char login[512];
fgets(login, 512, stdin);
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}

main()
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()
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}

int verify(const char* name)
{
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inti;
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user][i] = tolower( namel[i] );
user[i] ="\0';

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower

#include <string.h> // strcmp :
#include <stdio.h> // fgets, fputs main()
void reveal_secret() e
{ : login |
fputs("SUPER SECRET = 42\n", stdout); '
}
login
int verify(const char* name) :
{ rp Py %esp
char user[256]; verify()
int i; B _
for (i = 0; namel[i] != "\0'; ++i) N — e |%elp
__userfif = tolower(nameli]) ; f%: user ! -I/'—
-~ user[i] =0 o ! !
/ return strcmp(user, ) ==0; B /
,/I } i ,'
I II
int main() nameli] !
{ _ |
char login[512]; p - /'
fgets(login, 512, stdin); /
if (! verify(login)) J
return 1; . N
\ reveal_secret(); //
\ return O; K



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)

user][i] = tolower( namel[i] );
user[i] ="\0';

return strcmp(user, ) ==0;
}
int main()
{

char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,
reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user][i] = tolower( namel[i] );
user[i] ="\0';

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

return strcmp(user, ) ==
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]) ;
user[i] ="\0';
return strcmp(user, ) ==

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp

#include <stdio.h> // fgets, fputs main()
void reveal_secret() —
{ : login
fputs("SUPER SECRET = 42\n", stdout); '
}
login
int verify(const char* name) :
{ rnp PY %esp
char user[256]; verify()
int i; - _
for (i = 0; nameli] != \0"; ++i) N — Yoelp
user[i] = tolower(nameli]) ; 24 user ! —
user[i] = "\0"; ol !
return strcmp(user, )==0; ~
) i
int main() nameli]
{ :
char login[512]; —
fgets(login, 512, stdin); tolower() >
if (! verify(login))
return 1,
reveal_secret();
return O;
} T —




#include <ctype.h> // tolower
#include <string.h> // strcmp

#include <stdio.h> // fgets, fputs main()
void reveal_secret() —
{ : login
fputs("SUPER SECRET = 42\n", stdout); '
}
login
int verify(const char* name) :
{ rnp PY %esp
char user[256]; verify()
int i; - _
for (i = 0; nameli] != \0"; ++i) N — Yoelp
user[i] = tolower(nameli]) ; 24 user ! —
user[i] = "\0"; ol !
return strcmp(user, )==0; ~
) i
int main() nameli]
{ :
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reveal_secret();
return O;
} T —




#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]) ;
user[i] ="\0';
return strcmp(user, ) ==

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]) ;
user[i] ="\0';
return strcmp(user, ) ==

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
int i;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
int i;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
int i;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i=0; namel[i] !="\0' ;)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] = \0"
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}
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#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] = \0"
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()

login

login

rp

verify()

' 256 bytes

user

name(i]

rp

sfp

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, "xyzzy" ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()

login

login

rp

verify()

' 256 bytes

user

&"xyzzy"
rp

sfp

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return stremp( user , ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()

login

login

rp

verify()

' 256 bytes

user

&"xyzzy"

user

sfp

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{

fouts("SUPER SECRET = 42\n", stdout);
}

int verify(const char* name)

{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);

user[i] ="\0';

return strcmp(user, "Xyzzy") :L :
} \
int main()
{

fgets(login, 512, stdin);

if (! verify(login)) \
return 1; \

reveal_secret(); \

return O;

}

char login[512]; \

main()

login

login

rp

verify()

user

' 256 bytes

&"xyzzy"

user

rp

-
-

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp

#include <stdio.h> // fgets, fputs main()
void reveal_secret() —_—
{ : login
fputs("SUPER SECRET = 42\n", stdout); '
}
login
int verify(const char* name) :
{ rp Py %esp
_chqr user[256]; verify()
int i; - * |
for (i = 0; namel[i] != "\0'; ++i) ol ] %elp
user[l] = tolower(nameli]); B user L
user[i] = "\0"; =y '
return strcmp(user, "xyzzy") ==0: B !
} i |
:
int main() &"xyzzy" |
{ |
char login[512]; user |
ffgelts(lo_gir}, 512, stdin); rip //
if (! verify(login ,
r(eturn fi/( ) stremp() of <«
reveal_secret();
return O;
}




#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcemp(user, "xyzzy") ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()

login

login

rp

verify()

user

' 256 bytes

&"xyzzy"

user

rp

stremp()

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcemp(user, "xyzzy") ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()

login

login

rp

verify()

user :

' 256 bytes

&"xyzzy"

user

rp

stremp()

StI’th

R ————— e —

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcemp(user, "xyzzy") ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,

reveal_secret();
return O;

}

main()

login

login

rp

verify()

' 256 bytes

user

&"xyzzy"

user

rp

sfp

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);

user[i] ="\0';
return  strcmp(user, ) ==0;
}
int main()
{

char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,
reveal_secret();
return O;

}

main()

login

login

rp

verify()

user ]
I

&"xyzzy"

user

rp

sfp

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);

user[i] ="\0';
return  strcmp(user, ) ==0;
}
int main()
{

char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return 1,
reveal_secret();
return O;

}

main()

login

login

rp

verify()

user ]
I

&"xyzzy"

user

rp

sfp

%esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()
{
char login[512];
fgets(login, 512, stdin);
if ( !verify(login) )
return 1,
reveal_secret();
return O;

}

main()

login

login

rp

%0esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()
{
char login[512];
fgets(login, 512, stdin);
if ( !verify(login) )
return 1,
reveal_secret();
return O;

}

main()

%0esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return1

reveal_secret();
return O;

}

main()

%0esp

%eip



#include <ctype.h> // tolower
#include <string.h> // strcmp
#include <stdio.h> // fgets, fputs

void reveal_secret()

{
fouts("SUPER SECRET = 42\n", stdout);

}

int verify(const char* name)
{
char user[256];
inti;
for (i = 0; nameli] I="\0"; ++i)
user[i] = tolower(nameli]);
user[i] ="\0';
return strcmp(user, ) ==0;

}

int main()

{
char login[512];
fgets(login, 512, stdin);
if (! verify(login))

return1

reveal_secret();
return O;

}

main()

%0esp

%eip



	1
	2
	3
	4 0
	 4 1
	5
	6
	6 1
	6 2
	6 3
	6 4
	6 7
	6 5
	6 6
	7 0
	7 1
	7 2
	7 3
	7 4
	8 0
	8 1
	8 2
	8 3
	8 4
	8 5

